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Puzzle 1 (Easy, difficulty rating 0.43)

| | |
—|afo=|w|o]<t|o|o] Bl—|wo|w]n|<t|o]o|m|—] Ro|w|o]—|—|a<|m|o] Llw|o|—]|n|~|o]m|<|o
oS o oS
o|[t|o]m|o|njo|—|—] HA|o|n]—|=|m]o|o|w] Hojo|m]o|t|wlo |~ Ho|o|t|m|—|©o]—|w|o
® s ®
o|w|~|<|o|—||o|m S| — ||| o]~ |< o [l R A d (521 (¢e] (=] £SV] fee] [¥e) S|m|oo|—|w|o| <] —|Nf©
2] 2| 2]

N[ OO~ — (|| alo|w|wo]eo| ||| m™ al— ||| ojofNfo a|o| ™[] <o ||~
< || —|N|olm|o|wo] Tl |<|o|~|m|w]o|c|wo]  Tlo|c|wl—|o|olm|—|] T~ |o]—|m|w] ||y
S S S
o|—|w]o|m|<t|—|no]  Slafm|=|o|o|s|w|—|o] Sle|o|olo|—[m]o|w|~] S| ||—[o|o]w|o|m
o e) o
(] (5] (]
~|o[tN|o|wlo(m|—]  Zlo|o|o|w(Nf—|ol~l Zlo|o|o]ofa—|— |t (o] Sl |w (oo o —]ofo] <
N ™ <
m|o|—|o|<t|~|o|w|]  ojo|c|m|o|—|~]|<|w|o o|jm|—|—]o|o|[|w|o|] o] ]|m|o|—]|—
N N N
wlo|ajo—|ojo|~<|  Slof~|—|< (o ofm|© let= el =elel 2l |||~ e w




